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How Securities are traded?
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What are the sources of capital?

1) Debt. EX: - Bonds
2) Equity. EX: - Common stock and Preferred stocks
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Types of offerings: -

1) Private Placement: Selling Securities for a specific group of people
(Privately Held Corporation).

2) Public Placement: Selling Securities to the general public (Publicly held
Corporation).
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Advantages to keep a company private:

1) No or less obligation to disclose financial statements -> Less cost -> No
disclosure of information that can help competitors.

2) No quarterly announcement for the company’s earnings per share “EPS” ->
Corporations can pursue long-term goals or objectives without
stockholders’ pressure.
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Disadvantages to keep a company private:

1) Hard to raise capital
2) lliguid. “Hard to sell ownership”
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When a company goes public:

1) Initial Public Offering “IPO”: Selling the specific shares for the first time to
the general.

2) Seasoned offering: Public offering for a firm that is already traded and has
an active trading stock price. Note: Before issuing new shares, the company
must first offer them to existing shareholders who already own a
percentage of the company. This allows them to maintain their ownership
share by purchasing the new shares. If they choose not to buy, their
ownership percentage will decrease due to the increase in the total number
of shares. This right is called the "preemptive right."
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When a corporation goes public, two types of agreements can be made with the
investment banker:

1. Underwriting agreement: The investment banker purchases the shares
from the issuer at a specific price and promises to resell them at a
predetermined offering price (firm commitment).

2. Best efforts agreement: No guarantee is given for price or for the quantity
of shares to be sold.
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Process of Going Public:
1. Aregistration statement is submitted to the regulator.
2. Once approved, a prospectus is distributed to potential investors.
3. The underwriting agreement is finalized.

o Shelf registration: A one-time registration allows securities to be sold
gradually over two years.
Advantages:
a) Sell the quantity you need.
b) Sell shares when the market is strong.
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After selling the Initial Public Offering (IPO), there is often a price jump.
Price jumps occur due to underpricing, which happens because:

1) Underwriter aim to reduce risk.
2) Investors generally prefer price jumps.
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Problems with an IPO:

1) Underpricing
2) Timing (When the IPO is sold).
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Costs of an IPO:

1. Direct Cost:
Investment banks typically charge 7% of the funds being raised.

2. Underpricing:
Money left on the table due to stocks being sold below their true market
value.
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Types of Markets:
1. Direct Search Market: The least organized
o Buyers and sellers seek each other out directly.
o Example: Selling second-hand goods, such as eBay.
2. Broker Market: Large and specialized
o Brokers have knowledge of valuing assets traded in the market.
o Example: Primary market, real estate market.

3. Dealer Market:

o Dealers act as market makers. They usually specialize in various
assets. They buy and sell assets for their own profit.

o Example: Over-the-counter market (NASDAQ). (A secondary market)
4. Auction Market:

o The most integrated market, where all trades occur in one place,

either physically or electronically, to buy or sell assets (Organized
Exchange).

o Example: New York Stock Exchange (NYSE) (A secondary market)
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Types of Orders:

1. Market Order: Buy or sell stocks or securities at the current market price
(or best price).
o Example: Ask the broker about the market price of FedEx.
= Bid Price (Selling price) = $90
= Ask Price (Buying price) = $90.05
= Ask price — Bid price = Bid-ask spread
= $90.05 - $90 = $0.05 (Goes to the investment banker).
o Depth determines how many shares you can buy at the current ask
price or sell at the current bid price. If you want to buy or sell more
shares, you may need to accept a different price.
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2) Price-Contingent Order (Limit Order): Investors place orders specifying the
prices at which they are willing to buy or sell securities.
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a) Limit Buy Order: Instructs the broker to buy a specific number of shares
at or below a given limit.

b) Limit Sell Order: Instructs the broker to sell a specific number of shares
when the stock price rises above a given limit.
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3) Stop Orders: Orders that are executed only when the price reaches a
specific level.
a) Stop-Loss Order: The stock is automatically sold if the price falls to a
specific level (Associated with buying on margin).
b) Stop-Buy Order: The stock is automatically bought if the price rises to a
specific level (Associated with short selling).
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Buying on Margin lalgdl ¢ &)

e Aninvestor uses both their own money and borrowed money to buy stocks.
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e The investor borrows money from a broker. The broker, in turn, borrows
money from the bank at a call rate.
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e The investor must pay the call rate along with service charges on the loan.
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e The purchased securities are usually held as collateral for the loan.

STUDENTS-HUB.com Uploaded By: anonymous


https://students-hub.com

INVESTMENT MANAGEMENT Mohammed Haj Mohammed FINN431

0B AL las 3) jidal) Alall (51,000 BliiaY) 23 .

e The Federal Reserve typically requires investors to pay at least 50% of the
securities' purchase price in cash (this is called the initial margin
requirement).
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o The broker sets a maintenance margin. If the investor's percentage margin
( Equity

margin call.

drops below this level, the broker will issue a
Value of the stock purchased) P !
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(Margin Call).

e A margin call requires the investor to deposit additional cash or securities
into their account.
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« If the investor does not respond, the broker may sell the investor’s

securities to cover the loan.
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Buying On Margin

Maintenance Margin (MM)
In investments, maintenance margin is the minimum amount of money an
investor must always have in their account to keep a margin trade open.

Difference Between Maintenance Margin & Initial Margin

Equity

Both use the same formula:
Value of the stocks purchased

But they are different in meaning:
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Concept Initial margin Maintenance margin

Definition The starting amount of money an The minimum amount of
investor must put in to buy stocks money the investor must keep
using a margin account. to avoid a margin call (forced

selling of stocks).

Whet\ it At the time of buying the stock. ConhnuF)ust after buying, as
Applies stock prices change.
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" Value of the stocks purchased
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Example: Suppose an investor buys 100 shares at $100 per share, and they take a
loan of $4,000 to finance part of the purchase. The investor percentage margin is
calculated as follows:
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SCENARIO 1

Step 1: calculate the value of the stock purchased

(Value of stocks purchased = number of shares * price per share)
(Value of stock purchased = 100 shares* $100/share)

Value of the stocks purchased = $10,000

Step 2: calculate the equity

Loan = $4,000
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Equity = Value of the stocks purchased — loan
Equity = $10,000 - $4,000 = 56,000

OR like this for both steps above:

ASSETS LIABILITIES + OWNER’S EQUITY
Value of the stocks purchased = $10,000 | Loan = $4,000 Equity= $6,000
$10,000 => (100 shares * $100/share) $6,000 => ($10,000-54,000)

Step 3: Calculate the investor percentage margin

Equity __ $6,000
Value of the stock purchased $10,000

Investor percentage margin = = 60%

Scenario 2

If the price per share DECLINES down to $70 per share, calculate the investor
Percentage margin?

Step 1: calculate the value of the stock purchased

(Value of stocks purchased = number of shares * price per share)
(Value of stock purchased = 100 shares* $70/share)

Value of the stocks purchased =

Step 2: calculate the equity

Loan = $4,000

Equity = Value of the stocks purchased — loan

Equity = -$4,000 = $3,000
ASSETS LIABILITIES + OWNER’S EQUITY
Value of the stocks purchased = Loan = $4,000 Equity= $3,000
$7,000 => (100 shares * $70/share) $3,000 => ( -$4,000)

Step 3: Calculate the investor percentage margin

. Equit $3,000
Investor percentage margin = et = = 42.8%
Value of the stock purchased
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Scenario 3

If the price per share increases up to 5110 per share, calculate the investor
percentage margin?

Step 1: calculate the value of the stock purchased

(Value of stocks purchased = number of shares * price per share)
(Value of stock purchased = 100 shares* $110/share)

Value of the stocks purchased =

Step 2: calculate the equity

Loan = $4,000

Equity = Value of the stocks purchased — loan

Equity = -$4,000 = $7,000
ASSETS LIABILITIES + OWNER’S EQUITY
Value of the stocks purchased = Loan = $4,000 Equity= $7,000
$11,000 => (100 shares * $110/share) $7,000 => ( -$4,000)

Step 3: Calculate the investor percentage margin

. Equit $7,000
Investor percentage margin = Y = = 63.63%
Value of the stock purchased

Conclusion:

« If the stock price increases, the investor percentage margin will also
increase.

o If the stock price decreases, the investor percentage margin will decrease.

o If the investor does not borrow money (Loan = 0), the investor percentage
margin will always be 100%, regardless of stock price changes.

;GU.'C\MY\
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Example on scenario 1 continued:
If a maintenance margin is 30%

What is the price where the investor receives a margin call?

Answer:
ASSETS LIABILITIES + OWNER’S EQUITY
Value of the stocks purchased = Loan = $4,000 Equity= 100P -$4,000
$100P=> (100 shares * P/share) Equity => (100P -54,000)

Maintenance Margin (MM)

Equity
MM =
Value fo the stock purchased
100P — $4,000
30% =

100P
30P = 100P — $4,000
70P = $4,000
P =$57.14

At this price the investor will receive a margin call.
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Example 2:

Suppose an investor is bullish* on Fincorp stock, which is selling for $100 per

*In investing, the terms bullish* and bearish describe how investors feel about
the market or a specific stock.

e Bullish 7% - Investors believe prices will go up.

e Bearish ‘=° = Investors believe prices will go down.
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share. An investor with $10,000 to invest expects Fincorp to go up in price by 30%
during the next year. Ignoring any dividends, what is thew expected rate of return?

Answer: - before the risen of the price

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $10,000 Loan = S0 Equity= $10,000 (Old Equity)
$10,000 => (100 shares * $100/share) $10,000 => ($10,000-50)

After the risen of the price by 30%: -

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = Loan = S0 Equity= $13,000 (NEW Equity)
$13,000 => ($10,000 * (1+30%)) $13,000 => ( -S0)

New Equity — Old Equity

Rate of return =

Old Equity
rat t $13,000 - $10,000 _ $3,000 _ . o
= = = (.3 % =
ate of return $10,000 $10,000 0

The expected rate of return would be 30% if the investor invested $10,000 to buy
100 shares.
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Now assume the investor borrows another $10,000 from the broker and invests it
in Fincorp, too. And assuming an interest rate on the margin loan of 9% per year

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $20,000 Loan =$ 10,000 Equity= $10,000 (Old Equity)
$20,000 => ($10,000 (Invested) + $10,000 (borrowed)) $10,000 => ($20,000-510,000)

After one year, stock has risen up by 30%, and have an Interest rate of 9%

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = Loan = $10,000 Equity= $15,100 (NEW Equity)
$26,000 => ($20,000 * (1+30%)) [ Interest payable = $10,000 * 9% = $900 @ $15,100 => ( -$10,900)

Total => ($10,000 + $900) = 510,900

New Equity — 0Old Equity

Rate of return =

Old Equity
rat t $15,100 - $10,000 _ $5,100 _
= = = . * =
ate of return $10,000 $10,000 ’

Scenario 2: If the price of the stock does not change.

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $20,000 Loan =$ 10,000 Equity= $10,000 (Old Equity)
$20,000 => ($10,000 (Invested) + $10,000 (borrowed)) $10,000 => ($20,000-510,000)

After 1 year, having an interest rate of 9%

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = Loan = $10,000 Equity= $9,100 (NEW Equity)
$20,000 => Nothing Changed Interest payable = $10,000 * 9% = $900 $9,100 => ( -$10,900)

Total => ($10,000 + $900) = $10,900

$9,100 — $10,000 —$900

ate of return $10,000 $10,000

=—-0.09 %100 = -9%
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Scenario 3: If the price of the stock down by 30%

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $20,000 Loan =$ 10,000 Equity= $10,000 (Old Equity)
$20,000 => ($10,000 (Invested) + $10,000 (borrowed)) $10,000 => ($20,000-510,000)

After 1 year, the price goes down by 30%, and have an interest rate of 9%

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = Loan = $10,000 Equity= $3,100 (NEW Equity)
$14,000 => ($20,000 * (1-30%)) [ Interest payable = $10,000 * 9% = $900 @ $3,100 => ( -$10,900)

Total => ($10,000 + $900) = $10,900

$3,100 — $10,000 —$6,900
= =—-0.69 %100 = -69%

Rat t = = =
ate of return $10,000 $10,000

Page 88 on hard copy, and page 117 on soft copy

9. You are bullish on Telecom stock. The current market price is $50 per
share, and you have $5,000 of your own to invest. You borrow an additional
$5,000 from your broker at an interest rate of 8% per year and invest
$10,000 in the stock.
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a. What will be your rate of return if the price of Telecom stock goes up by
10% during the next year? The stock currently pays no dividends.
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Solution:
ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $10,000 Loan =$ 5,000 Equity= $5,000 (Old Equity)
$10,000 => ($5,000 (Invested) + $5,000 (borrowed)) $5,000 => ($10,000-55,000)
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After 1 year, the price goes up by 10%, and have an interest rate of 8%

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = Loan = $5,000 Equity= $5,600 (NEW Equity)
$11,000 => ($10,000 * (1+10%)) | Interest payable = $5,000 * 9% = $400 | $3,100 => ( - )

Total => ($5,000 + $400) =

$5,600 — $5,000 $600

- = 0.12 * 100 = 129
$5,000 $5,000 * %

Rate of return =

b. How far does the price of Telecom stock have to fall for you to get a
margin call if the maintenance margin is 30%? Assume the price fall
happens immediately.

L;.;)” Jdl C)S\Sl ¢u‘3.~oL@J| Ry ﬁ &> YL &SJ.:; g 2w ORR3 ()T oo > L“ST dl o
15 oo a8 e of o150 §30% olel

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = 200P Loan = $5,000 Equity= 20P -$5,000
200P=> (200 shares * P/share)

We don'’t need to calculate for the next year; because they mentioned that the
price fall happens immediately.
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Equity

MM =
Value fo the stock purchased

200P — $5,000
200P

60P = 200P — $5,000

30% =

140P = $5,000
P = $35.7142/Share

The Investor will receive a margin call from the broker, when price reaches down
to $35.7.
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SHORT SALE Gl e g

Short selling is a strategy that investors use to profit from falling stock prices.
g ylasl (Blasl (ye gyl Gaioed 9 padiaanal lgodsing Al sl 98 (3948l e audl
How It Works:
1. Investor borrows shares from a broker.
2. Investor sells the borrowed shares at the current market price.

3. Later, investor buys back the same number of shares (to return them to
the broker).

4. If the stock price drops, the investor profits by buying the shares back at a
lower price. If the price rises, the investor loses money.
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Important Rules:

o The short seller must pay any dividends issued on the borrowed shares to
the lender.

o The broker lends shares from their own portfolio or borrows them from
other investors.

« The money from selling the borrowed shares stays in a broker’s account (it
cannot be reinvested).

« The short seller must provide extra money or collateral (margin) in case
the stock price rises to cover potential losses.
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*Purchase of the stocks: pgudl sl

Time Action Cashflow
cdgll el Sua! 3oul
Buy stocks (- or Outflow) Initial price
PO JY adl (s (s (585 of -)
Receive dividends & sell shares (+ or Inflow) Ending price + dividends
0 20 9 7L il LY+ Bledl sl (1 suds 355 of +)

Profit = Inflow — Outflow

Profit = (Ending price + dividends) — Initial Price
*Short sale of stocks: egud (35480l e audl

Time Action Cashflow
gl syl Sl GO
Borrow shares & sell them (+ or Inflow) Initial price
g2 9 gl 2181 JY sl (s (s (585 of +)
Repay the dividends & buy shares to (- or Outflow) Ending price + dividends
replace the borrowed ones LI+ Gledl padl (s s 3895 of -)

Profit = Inflow — Outflow

Profit = Initial Price — (Ending price + dividends)
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Example page 110 (soft book edition)

If you are bearish on Dot Bomb stock and decide to short-sell 1,000 shares at a
market price of $100 per share, and the broker requires a 50% margin on short
sales, what will be the total value of your account with the broker after the short
sale?

293100 2)48 Fguw yauo BsaSall e 0gu 1,000 a0 2,39 Dot Bomb gl 0lio lasladie a8 13|
AWl dopdll (p bed (DgaSl el Gldas e %50 dus Liolas (il Jas gl 089 cogun JSI
§ 098l e el Aulas day Laangll po eyl

Step 1: calculate the cash received after selling on short sale, and margin on
short sale

G528l e gl Sldos e Sialglly 528l e gl das licusl] G sl 1 I3 85l
1,000 shares * $100/share = $100,000 (cash)
$100,000 * 50% = $50,000 (Treasury bills “T-bills” or securities)
Total asset => $100,000 + $50,000 = $150,000

ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $100,000 Securities in short position = $100,000  Equity= $50,000 (Old Equity)
T-bills = $50,000 $50,000 => ($150,000 - $100,000)

Total Asset = $150,000

If, as expected, the price drops to $70 per share, what are your total dollar
returns and the rate of return on the short sale?

ddas e Blall Juang ;Y9 b ddlazYl SSlgall (o Led cogudd Y93 7O J] gd g0 98 LS yaudl (a2l 13)

T8 gaSa)l e 2l
Answer:
$1,000 shares * $70/share = $70,000
ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $100,000 Securities in short position = Equity= $80,000 (New Equity)
T-bills = $50,000 $80,000 => ($150,000 - )
Total Asset = $150,000 (Assets — Liabilities)
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Return in dollar = $80,000 - $50,000 = $30,000 (profit)

80,000 —$50,000
Rate of return = $ $ = 0.6 *100 = 60%
$50,000

If the broker has a maintenance margin of 30% on short sales, what is the
highest price Dot Bomb stock can reach before you receive a margin call?

Of oSas yaws (el 92 ad (B gaSall e audl Sldas e %30 duis Bl il Jagll (5 O 13)
S uinelgll s (315 of LS Dot Bomb g 44 o

ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $100,000 Securities in short position = 1,000 P Equity= $150,000 — 1,000 P
T-bills = $50,000 1,000 P => (1,000 Shares * Price) => (Assets — Liabilities)

Total Asset = $150,000

Equity

Maintenance margin (MM) =
Value of the stocks purchased

0% — $150,000 — 1,000 P
0 1,000 P

300 P = $150,000 — 1,000 P
1,300 P = $150,000
P =$115.38

At a stock price of $115.38, the investor will receive a margin call from the broker,
requiring them to either deposit additional cash, purchase more securities, or
cover the short position by buying back the borrowed shares at the market price.

gl e o bow cdamwgll (po ol £l galticnadl (Bl ¢1jV 93 115.38 ] ol yauw Jga09 i
£l Bale] UM om0 BgiSall e andl 3Sho dndas of cdudladl BlygWI (o oiadl ol cdudlis] Jlgwl
B9l y2udb & Adall e gudl

You are bearish on Telecom and decide to sell short 100 shares at the current
market price of $50 per share.

50 W Jdl Ggand! yauy D58l e oges 100 a0 2,89 YL 85 g Oliy @3ladke i
g S BYg0
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a. How much in cash or securities must you put into your brokerage account if
the broker’s initial margin requirement is 50% of the value of the short position?

Jarugll S99V sl Cllaie OBT13) ey polsedl Aol gl Gl (3 Adle Blygl o A (y0 £355 OF oy .
T gaSall e gadl 3550 daxd (30 %50 52

1 hares * hare =
ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $5,000 Securities in short position = $5,000 Equity= $2,500
T-bills = $2,500 ($5,000 *50%) => (Assets — Liabilities)
Total Asset = $7,500 =>($7,500 - $ 5,000)

b. How high can the price of the stock go before you get a margin call if the
maintenance margin is 30% of the value of the short position?

&) 3550 daid (0 %30 92 Liluall old O 13] iualgll o1l (JUS OF S gl yauw gy OF oS (5.

U gaSal e
ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $5,000 Securities in short position = 100 P Equity= $7,500 — 100 P
T-bills = $2,500 ($5,000 *50%) => (Assets — Liabilities)

Total Asset = $7,500
Equity

Maintenance margin (MM) =
Value of the stocks purchased

$7,500 — 100 P
100 P

30 P = $7,500 — 100 P

30% =

130 P = $7,500
P = $57.69

At a stock price of $57.69, the investor will receive a margin call from the broker,
requiring them to either deposit additional cash, purchase more securities, or
cover the short position by buying back the borrowed shares at the market price.

gl e onm bes cdarwgll (o Jialgll £1u5 peililual! (Bl (5395 57.69 J] ol y2w Jgug is
£l Bale] UM om0 BgiSall e aadl 3Sho0 dudas ol cdudladl BlygWI (o Wodadl ol cdudlis] Jlgal
B9l y2udl & Al pgudl
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Problem Sets

4. A market order has:
a. Price uncertainty but not execution uncertainty.
b. Both price uncertainty and execution uncertainty.
c. Execution uncertainty but not price uncertainty.

Answer: A

6. Dée Trader opens a brokerage account and purchases 300 shares of Internet
Dreams at $40 per share. She borrows $4,000 from her broker to help pay for
the purchase. The interest rate on the loan is 8%.

a. What is the margin in Dée’s account when she first purchases the stock?

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $12,000 Loan =$ 4,000 Equity= $8,000 (Old Equity)
$12,000 => (300 shares * S40/share) $8,000 =>($12,000 - $4,000)

Equity $8,000

Initial percentage margin =

=> = 66.79
Value of stocks purchased $12,000 o

b. If the share price falls to $30 per share by the end of the year, what is
the remaining margin in her account? If the maintenance margin
requirement is 30%, will she receive a margin call?

After one year, the call rate 8%, and the price fall to 305

ASSETS LIABILITIES + OWNER’S EQUITY
Securities = $9,000 Loan = $ 4,000 Equity= $4,680 (New Equity)
$9,000 => (300 shares * $S30/share) Interest Payable (8%) => $320 $4,680 => ($9,000-54,320)

Total = $4,320 => (Assets — Liabilities)

Remaining Margin = $4,680
When Maintenance Margin = 30%

Equity $4,860

MM = =
Value of the stocks purchased  $9,000

=52% = 30%

Investor will, not receive a margin call.
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c. What is the rate of return on her investment?

New Equity — 0ld Equity
O0ld Equity

$4,680 — $8,000

Rat t = = —41.59
ate of return $8.000 Yo

Rate of return =

7. Old Economy Traders opened an account to short sell 1,000 shares of
Internet Dreams from the previous problem. The initial margin requirement
was 50%. (The margin account pays no interest.) A year later, the price of
Internet Dreams has risen from $40 to $50, and the stock has paid a
dividend of $2 per share.

a. What is the remaining margin in the account?

ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $40,000 Securities in short position = $40,000 Equity= $20,000 (Old Equity)
T-bills = $20,000 $20,000=> (Assets — Liabilities)

Total Asset = $60,000

b. If the maintenance margin requirement is 30%, will Old Economy receive
a margin call?

ASSETS LIABILITIES + OWNER’S EQUITY
Cash = $40,000 Securities in short position = $50,000 Equity= $8,000 (New Equity)
T-bills = $20,000 => (1000 shares *$50/share) $8,000=> ($60,000 - $52,000)
Total Asset = $60,000 Dividends Payable = $2,000
Total Liabilities = $52,000

Maintenance Margin “MM” = 30%

Equity $8,000

MM = -
Sec in short position  $50,000

=16% < 30%

Hence, the investor will receive a margin call.

c. What is the rate of return on the investment?

Rat ; _ $8,000 — $20,000 60%
ate of return = $20,000 = 0

STUDENTS-HUB.com Uploaded By: anonymous


https://students-hub.com

INVESTMENT MANAGEMENT Mohammed Haj Mohammed FINN431

15. You've borrowed $20,000 on margin to buy shares in Disney, which is
now selling at $40 per share. Your account starts at the initial margin
requirement of 50%. The maintenance margin is 35%. Two days later, the
stock price falls to $35 per share.

a. Will you receive a margin call?
Balance sheet Before

ASSETS LIABILITIES + OWNER’S EQUITY
Sec= $40,000 Loan = $20,000 Equity= $20,000 (Old Equity)
$20,000=> (Assets — Liabilities)
How do we calculate Securities?

Equity

Initial Margin requirement =
a arg equireme Value of the stocks purchased "x"

500 = Equity

Equity = 0.5X
Assets = Liabilities + Owner’s Equity

X =$20,000 + 0.5X

0.5X = $20,000
X = $40,000 => Value of the stocks purchased
$40,000
Number of stocks purchased = %40 = 10,000 shares

And to calculate equity “2" method”

Equity = 0.5 * $40,000 = $20,000

After 2 days
Note: Do NOT calculate Interest Payable because it hasn't been completed 1 year.

A9 ple Bued JoiSS o @Y ddseiuned| BuSLA)! s Y 1dage das>do

ASSETS LIABILITIES + OWNER’S EQUITY
Sec= $35,000 Loan = $20,000 Equity= $15,000 (New Equity)
(S35/share *1000 shares) $15,000=> (Assets — Liabilities)
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Equity __ $15,000

Percent Margin = =
ercentage Marg Value of stocks purchased $35,000

=42.8% =35%

The investor will NOT receive a margin call.

b. How low can the price of Disney shares fall before you receive a
margin call?

ASSETS LIABILITIES + OWNER’S EQUITY
Sec=1,000P Loan = $20,000 Equity= 100P - 20,000
=> (Assets — Liabilities)
Maintenance Margin = 35%

MM = Equity
"~ Value of the stocks Purchased
1,000P — $20,000
0.35 =

1,000 P
350P = 1,000P — $20,000
650P = $20,000
P =3$30.77

The Investor will receive a margin call from the broker, when price reaches down
to $30.77.

DHY93 30.77 Ul saudl Juas bodie ¢ Jarw gl (po [inold ¢l yadilune]! 2l

16. On January 1, you sold short one round lot (that is, 100 shares) of Four Sisters
stock at $21 per share. On March 1, a dividend of $2 per share was paid. On April
1, you covered the short sale by buying the stock at a price of $15 per share. You
paid 50 cents per share in commissions for each transaction. What is the value
of your account on April 1?

Step 1: Understanding the Short Sale (January 1)

« You sell short 100 shares of Four Sisters stock at $21 per share.
« You must eventually buy back the shares (cover your short position).
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You receive:

« 100Shares * $21/share= $2,100
« Commission Fee: Every time you trade, you pay a fee.
You paid $0.50 per share for selling.
o Total commission:
100Shares * $0.5/Share= $50
So, your net cash from the sale is:
$2,100 - $50 =2,050

Step 2: Dividend Payment (March 1)

Dividend per share = $2
« Total dividend paid:
100Shares * $2/ Share= $200

Step 3: Covering the Short Sale (April 15

You buy back 100 shares at $15 per share to return them.
« Total cost to buy shares:
100Shares * $15/Share= $1,500
« Commission Fee: Again, you pay $0.50 per share when you buy.
o Total commission:
100Shares * $0.5/Share= $50
o Total cost to close the short:
$1,500+550 = $1,550

Step 4: Final Account Value

You started with $2,050 in cash (after selling short).

You paid $200 in dividends.

You spent $1,550 to buy back the stock and close the short.
o Final cash in account:

$2,050-5200-51,550= $300
« Final account value = $300
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CFA Problems:

1) FBN Inc. has just sold 100,000 shares in an initial public offering. The
underwriter’s explicit fees were $70,000. The offering price for the shares
was $50, but immediately upon issue, the share price jumped to $53.

a.

IPO => 100,000 Shares

Underwriters explicit cost = $70,000

Market price = $50/ share (That FBN has been sold out)

Offering price = $53 (The actual worth price in the market)

a) What is your best guess as to the total cost to FBN of the equity
issue?

Cost of the IPO = Direct cost + Underpricing

Cost = $70,000 + ($3/share *100,000Shares)

Cost = $70,000 + $300,000

Cost = $370,000

Note: Underpricing cost = Number of shares * (Market price - offering price)

Underpricing cost = 100,000 shares * (§53/share - $50/share)

b) Is the entire cost of the underwriting a source of profit to the
underwriters?

No. The underwriters only receive $70,000 as their fee. The $300,000
underpricing loss benefits investors who bought shares at $50 and
saw them rise to $53.

$ 300,000 W1 jrisial! el §ylus Lo <o) poewyS 70,0005 e laid OgiSall Juax Y
$.53 Ul aihy) o3 $50 yauw pgudl g Al a0 paliunall lgie ddtan
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If you place a stop-loss order to sell 100 shares of stock at $55 when the current
price is $62, how much will you receive for each share if the price drops to $507?
A. S50.

b. $55.

c. $54.87.

d. Cannot tell from the information given.

Answer: d. cannot tell from the information given.

8. Consider the following limit-order book for a share of stock. The last trade in
the stock occurred at a price of $50.

$.50 yruw ol e Ao 15T dabth @ . cpme ) JWI Aol olsl 85 Shylael § i

Limit Buy Orders Limit Sell Orders
Price Shares \ Price Shares
$49.75 500 $50.25 100
$49.50 800 $51.50 100
$49.25 500 $54.75 300
$49.00 200 $58.25 100
$48.50 600

a. If a market buy order for 100 shares comes in, at what price will it be filled?
oS @i yauw (ST Wis ¢ogen 100 dua) Ggaudl youn £l pol @i 03 13
Look at the “Limit Sell Orders” table and take the First row that has 100
shares, and then look at the price the answer is $50.25!!
) ) 31 @3 cagen 100 e Sgize S U9V Cauall dsg "Badoall gl polgl" Jgda ) sl
50.255! L1 ()9S

b. At what price would the next market buy order be filled?
T A9l yamo S o]l yol JudiS e yauw (ST dis
Look at the “Limit Sell Orders” table and take the Second row that has 100
shares, and then look at the price the answer is $51.50!!
rad! ) 51 05 cpges 100 s Sgie s QW1 Casall dsg "Sadeall aedl jalgl" Jgir ) )
51.50S!! L1 ¢S

c. If you were a security dealer, would you want to increase or decrease your
inventory of this stock?
¢ ogdl 12 (p0 Og33nall Jalas 5T 855 3 & U (Ao Blgl y2B) Bgew gilo S 13)]
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You should know that:
e Limit Buy Orders => Quantity Demanded “Qd”
e Limit Sell Orders => Quantity Supplied “Qs”
O CBya3 O G
(Qd).glacd! A4Sl (e a3 Bodseall el &l polgl o
(QS). 429 y20dl S (ye pad Bodoeall &.’.‘!‘”J““ﬁi .

Calculate total shares for Qd and Qs
Total Shares Qd = 500+800+500+200+600= 2,600 shares
Total shares Qs = 100+100+300+100= 600 shares
Qd > Qs => 2,600 > 600
The dealer should increase the investor of this stock.

1 b yxally dygllacll agud)l Jlozr] Gl

e4¢~ (Qd) = 500 + 800 + 500 + 200 + 600 = 2,600 dsllasll pgudl Jb=!
o4 (Qs) =100 + 100 + 300 + 100 = 600 d>3,20)l pgusd Jle=!

Bgedl Bl e azd b gpaall pgudll Jloz] o JeT gllaall 0guedl Jlor] OF Loy
gl 13 50 O935eall B3

END OF THE CHAPTER
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